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1FRZE —= ARm 38 36 74
2 ER BB fasE™ 38 38 76
3K E—BF [MEET 39 39 78
4 FE =E fasE™ 40 39 79
5 B4R BxX BHFH 37 44 81
6 B %A FEH 42 40 82
1R TB i 42 40 82
8 BHHF Bk eti] 4 4 82
9 JIIE FEH etigii] 40 42 82
101k B8 /N =] 40 42 82
11 EH EiE krFm 39 43 82
12 A XK inta 42 41 83

13 B FIxX o™ 41 42 83
1451 kB INFHKTH 41 42 83

15 HE &I FNdam™ 43 41 84
16 & EX HF™ 43 M 84
17 2% £& HRFH 42 42 84
18 £ Ff& A 40 44 84
19 ik BF MR 40 44 84
20 $5K HE Ea™ 38 46 84
21 &R 1IE3E Ml 4 41 85
28 = fsET 42 43 85
23 BH Fih evigisl 42 43 85
24 % X{& FER 45 4 86
25 HIE KE MR 43 43 86
26 A FIk £ T 1] 43 43 86
27 B JE— Ay o] 42 44 86
2%k F FER 41 45 86
29 BF BER tntE T 40 46 86
30 ¥ IEEA il 43 44 87
31 [ BA /NN ] 43 44 87
32 A FEM 42 45 87
VHhE FZ fasE™ 45 43 88
34 TE 1ERH| etii] 44 44 88
3B E INE R 44 44 88
36 #JE IEX ntaEm™ 43 45 88
37 {FikE IEF AR 41 47 88
38 B & FER 40 48 88
39 ZE IEFR izl 49 40 89
40 HH #&— WEH 46 43 89
41 BE FIF =Nl 45 44 89
42 & ¥ mlR™ 45 45 90
43 INE F BEEHH 43 47 90
44 7 BHME XKET 43 47 90
45 FH & MR 43 47 90
46 BEE [5— =il 42 48 90
47 B B= R E 48 43 91
48 #5K HIE Jrum™ 44 47 91
49 RER #2 et ] 43 48 91
50 BH & =il 45 47 92
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51 6K &AX Ml 45 47 92
52 1k AT MR 42 50 92
53 1R IEfE WwEM 49 44 93
54 §# It izl 48 45 93
55 5@ EFfk etigii] 46 47 93
56 hE —3% WE™M 43 50 93
57 INFE ER ™ 43 50 93
58 4\ith FEZER MAETH 45 50 95
59 /NiE AR etigii] 52 44 96
60 ILA #Fth FrHE™ 48 48 96
61 K2 #7] I\ 48 48 96
62 Zix I8 ™ 52 45 97
63 hit BR ™ 52 46 98
64 %1 & eti] 48 51 99
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